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Instructions:
1. Attempt all questions.

Q.1

Q.2

Q.3

Q.3

Q.4

Q.5

Q.5

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic

(@)
(b)
(@)

(b)

(@)
(b)

Define the following terms: 1) Force 2) Statics 3) Dynamics 4) resultant force 5)
moment 6) fundamental units 7) Mass
Two forces100 KN each acting at an angle 45° between them. Find magnitude
and direction of the resultant.
Give difference between: (with Fig)
1) Coplanar concurrent forces and Non coplanar concurrent forces .
2) composition &resolution of forces.
A weight of 50 KN is hung by means of two strings from a ceiling as Shown in
Fig-1.Find the tension in two strings.
OR
(1) State Lama’s Theorem. (2) State Free Body Diagram.
Find the C.G. of the T-section as shown in the Fig-2 .
Forces are acting at a point as shown in Fig-3. Find magnitude and direction of
the resultant.
OR
Find the centred of the section shown in the Fig-4.
Forces are acting at a point as shown in Fig-5. Find magnitude and direction of
the resultant.
Describe with diagram: 1)Types of beams.
2)Types of supports 3) Types of loads.
Find the support reactions for the beam as shown in the Fig-6.
OR
(1)State the Principle of Moment.
(2)State the conditions of equilibrium of Coplanar Non -concurrent forces.
Find the support reactions for the beam as shown in the Fig-7.
Write a short note on types of frames ,uses of frame and its suitability.
A simply supported truss of 6 M span is loaded as shown in theFig-8.Find the
forces in the members AB, AD , DE &BD of the truss by the method of joints.
OR
(1) Give difference between C.G. and Centroid
(2) Explain Axis of Symmetry.
A cantilever truss is loaded as shown in the Fig-9. Find the forces in the members
AC,AB, BC & CE of the truss.
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